A包：
[image: ][image: ]










[bookmark: _GoBack]C包：
[image: ]



image1.png
CANAL 7yttt o g

L 1 TR B4R

T H 4 F:

0 P 2 R AT

FAbRg T HXY2022-038 a5 A
T omsew | rm | amewns (XN we | see | e
o SR A R .
1| fERIE | KER A HE. 21000 28 14900 29800 x
fEas | BdEdedsy | @i dt P
TR | DI A | . D PN -
! AL l B 5. EF2000iS 2a 00 19000 %
fERKRE AR WEAY PN -
Ll ey KEG A L 28 69500 139000 x
KRN | IR AT | dhhE: 3
5 Py © R | 449500 449500 x
BRFRRIEEDE | OCRiabka | i 3
6| s pesi ey 432500 432500 x
SEERIEE | ACHEHR | b\ 3
7 Erry pesi ey 239800 239800 x
BRRRIOM | ACEbRR | bR 3
8| s £tk |WE. wixi0 1| o800 | dess0 | K
LR ERHRX | AGEERR | Mg OLYMPUS .
o TG =it A5 S7X16 L& | 205800 255800 %
. . AR HAETE AT
10 eﬁ"ﬁmgfgg’& Litkig | A5 14 | 36000 36000 %
ATX25-60X 85
X fE L e soa | AR HEAEVE AT 3
11 " L £ i HE, ELI0X42 1B 18 19500 19500 x
TGRSR | oy | AR JEHE
12| e | EHAR | g e 1£ | 26800 26800 %
. N gy, | SRR EER PN =
13 WFEAX LD HE, YIC1200 16 1000 1000 x
A K&
14 FRig L HeJygs | A5 DHBOETIAIB | 16 4500 4500 %
(WIFD)
ot ey | AR BB .
15 By HEIE HE, IS-260X 18 7000 7000 x
3 2 e TR .
16 REE KA HE, VIRT500 132 1300 1300 x
e | ey B RS 26 | 4200 8400 %
" A5 TH-CSQ5A B

2




image2.png
CANAL rmawtsognss,

g L2203 /] RS ?& B | BEAS | &3
EHAEES ||| S EHE A .
) Cmemp | e g 26 | 10 | 00 | &
wo | e | b [BRRREEE el e e | ok
HERRER | BooLER | M FRoT i 3
20 1 m HE. RISI001 15 72000 72000 x
HERRER | BooLER | M FRoT i 3
21 ) m HE. RIS2801 15 35800 35800 x
HERREE R | FooL R | M Fo i 3
22 3 m HE. RUSSVOL 15 48800 48800 x
AR
F 2332600 |
bR AL
BERERAN

2022 4 08

29 H

VE: O#bR AL AHE 5P TR B ™ Bk 2RI bR B O i 8 ARG 43 R s
TR A

@ “HrIHRMBIAER" & BB

nh G- lR” i a i,





image3.png
11 HBURHEASER

WiH AR EEENN SRR T SR P E RS IE RS HXY2022-038 5 C
P | AR IR SR B Hokt/ AL iy UM | &
1 ZRALNITE I SHLBARE €5, D500 3 180000.00]  180000.00[K% Lr/*% 4
AT
p E BT PRI L8 ARHEL (€ 5. D-CAM2000 1 50000.00| 50000.00  /
YN
B ERKIRE RS (AT / = 250000.00]  250000.00  /
N SR NS iR KRS AR KRB, S5 Pro | 33800.00| 33800000 /
C |SRERG PRAT
t LHERT BT PRI T X8 A PCSEM300RTK A 44 8 = 220000.000  220000.00,  /
LB T ke [T PR ] L1
733800.00)





